<Cxx <f total
<name | <roun or <lor| or Tube (EtOH or
> ds> Tnn> 2> | 3> <glass id> <date> Scan name )| mRNA No.
2135 | 1 | cor | 1 | ¢ | 2000009710 | 20010404 1.7 2000099710 1 1007k | 3e0u| t | a4oug 20010208 1 31
2135 | 1 | cor | 2 | 7| 2000090418 | 20010404 2T 2000099418 1 100/K | 360ul 20010208 2 29
2135 | 1 | 101 | 1 | 7| 2000009711 | 20010404 17 2000099711 2 | 100sspl | 360u| t | 4oug 20010208 1 31
2135 | 1 | To1 | 2 | f | 2000099417 | 20010404 2_f 2000099417 2 | 100/spi | 360Ul 20010208 2 29
2135 | 1 | 1To2 | 1 | 7| 2000099709 | 20010404 1_f_2000099709 3 1007 | 360ul| t | 4oug 20010208 1 31
2135 | 1 | 102 | 2 | ¢ | 2000009419 | 20010404 2_f 2000099419 3 100711 | 360Ul 20010208 2 29
2135 | 1 | cia | 1 | 3| 2000009712 | 20010404 13 2000099712 4 75/k | 360ul | m 2ug 20010208 1 31
2135 | 1 | caa | 2 | 3 | 2000000415 | 20010404 2.3 20000899415 4 75/k | 360ul 20010208 2 29
2135 | 1 | 112 | 1 | 3 | 2000099713 | 20010404 132000099713 5 75/sspl | 360u| m 2ug 20010208 1 31
2135 | 1 | 112 | 2 | 3 | 2000000414 | 20010404 23 2000099414 5 75/spl | 3601 20010208 2 29
2135 | 1 | 112 | 1 | 3| 2000009715 | 20010404 132000099715 6 7s/m | 360ul| m 2ug 20010208 1 31
2135 | 1 | 112 | 2 | 3 | 2000099414 | 20010404 23 2000099414 6 75/ | 360ul 20010208 2 29
[/00000000000000000
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<1 or | Tube « D
<name> <glass id> 2> ( ) ( )

2135 2000099710 1 1 100 /MS (No.1 ) 4
2135 2000099418 2 1 100 /MS (No.1 ) 4
2135 2000099711 1 2 100 /MS spl spl
2135 2000099417 2 2 100 /MS spl spl
2135 2000099709 1 3 100 /MS rl rl
2135 2000099419 2 3 100 /MS rl rl
2135 2000099712 1 4 75 /MS (No.2 )
2135 2000099415 2 4 75 /MS (No.2 )
2135 2000099713 1 5 75 /MS S| spl
2135 2000099414 2 5 75 /MS S| spl
2135 2000099715 1 6 75 /MS rl rl
2135 2000099414 2 6 75 /MS rl rl

/oo OO000oooooOoOO0OCoOoO0OvsOO0O00O0oO0oOoODOO0OC0ODODO0O0O0O0<CxxorTn>000000000

<name> ==000000ooooomooooosn 10000:C01,T01,T02,TO3,TOA4.........

<rounds> ==0000010001020002030003..0 20000:C11,T11,T12,T13,T14........

<Cxxor Tnn>0 ==00000000000000¢0000000) 30000:C21,T21,T22,T23,T24........

<lor2> ==000000000 10000 2 4000 0:C31,T31,T32,T33,T34........

<for3> ==000000000003UTRODODOO

<glass id> ==000 IbO 1000

<date> == O 0 ex.20010517

total RNA 1 20ug, 9000 2 1 40ug 40ug 2
MRNA 1 1ug,9000 2 1 2ug 2ug 2




Tube (
<nhame> <glassid> |<1 or2> )

2135 2000099710 1 1 Oryza sativa Kosihikari

2135 2000099418 2 1 Oryza sativa Kosihikari

2135 2000099711 1 2 Oryza sativa Kosihikari spl mutant
2135 2000099417 2 2 Oryza sativa Kosihikari spl mutant
2135 2000099709 1 3 Oryza sativa Kosihikari rl mutant
2135 2000099419 2 3 Oryza sativa Kosihikari rl mutant
2135 2000099712 1 4 Oryza sativa Kosihikari

2135 2000099415 2 4 Oryza sativa Kosihikari

2135 2000099713 1 5 Oryza sativa Kosihikari spl mutant
2135 2000099414 2 5 Oryza sativa Kosihikari spl mutant
2135 2000099715 1 6 Oryza sativa Kosihikari rl mutant
2135 2000099414 2 6 Oryza sativa Kosihikari rl mutant
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